
 

 

Answer to Question #67116, Physics / Electromagnetism  

 

Problem: A -2.0nC point charged is placed at one corner of a square (1.5m on a side).and a -3.0nC 

charge is placed on a corner-diagonally away from the first charge. What is the magnitude of the 

electric field at either of the two unoccupied corners?  

Solution: 

Let’s calculate the value of electric field of first charge in the unoccupied corner of the square: 

𝐸1 =
𝑄1

4𝜋𝜀0𝑎2
 

The value of electric field of the second charge can be calculated as 

𝐸2 =
𝑄2

4𝜋𝜀0𝑎2
 

Now considering that electric field is a vector, the illustration and the Pythagorean theorem one can 

write 
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𝑘 ∗ √𝑄1
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𝑎2
=

8.99 ∗ 109 ∗ √13 ∗ 10−18

1.52
= 14.406 𝑁/𝐶 

Answer:  

The magnitude of the electric field at either of two empty corners of the square is equal to  

𝑬 = 𝟏𝟒. 𝟒𝟎𝟔 𝑵/𝑪 
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